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QUESTION 1

During a UE detach procedure, which commands are exchanged over the gx interface?
A. Delete Session Request / Delete Session Answer

B. Credit Control Request Terminate/Credit Control Answer Terminate

C. Release Session Request / Release Session Answer

D. Credit Control Request Release / Credit Control Answer Release

Correct Answer: B

QUESTION 2

Which of the following statements are FALSE regarding the SGW? (Choose two)

A. The SGW is connected to the E-UTRAN via the S1-u interface.

B. At a given time, a single SGW handles all the connections for a given UE.

C. The SGW provides downlink data buffering and paging for an idle UE.

D. The SGW can connect to only one PGW.

E. The SGW acts as a common anchor point during handovers between LTE and Release 8 UMTS networks.
F. The SGW may provide data plane connectivity between two eNodeBs.

Correct Answer: CD

QUESTION 3

Which of the following most accurately describes the QCI / ARP?

A. The QCI has 9 classes and the ARP has 15 levels.

B. A default QCI/ARP policy is predefined on the Alcatel-Lucent 7750 MG and cannot be modified.
C. Each EPS bearer is associated with one QCI value.

D. All of the above answers are correct.

E. Only answers A and B are correct.

Correct Answer: D

QUESTION 4
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Based on the information shown in the exhibit, which of the following is the time interval used by the SGW to send out
an "Echo Request" message over the GTP interface?

*A:SGUH show mobile-gatevay profile gtp default
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A. 3 seconds
B. 5 seconds
C. 6 seconds
D. 60 seconds
E. 90 seconds

Correct Answer: D

QUESTION 5

In an LTE network, which of the following is used to carry the GTP message "Create Session Request"?
A. The GTPv1 protocol.

B. The GTPv2 protocol.

C. Both the GTPv1 and the GTPv2 protocols.

D. Either the GTFV1 protocol or the GTPv2 protocol.

E. None of the above answers are correct.

Correct Answer: B
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